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The figures in the right margin indicate marks.  

Answer any two questions of the following: 

1. Name different Library Budgeting techniques? Which budgeting technique is apt for a 
Public Library in your views? Justify your proposed technique mentioning the 
specifications and importance in light of public libraries.            (6+4+10) 
 

2. Discuss Library Management by Objectives (LMBO) in light of MBO. Explain 
importance of Monitoring and Control Techniques in academic libraries.  (10+10) 
 

3. What is HRM? State importance of HRM in library system.  Discuss activities and 
actions of HRM in a library system.       (2+8+10) 
 
 

4.  i) In order to gets comparative idea about the number of Faculty members and 
number of Research scholars from different departments of  a University regularly 
enjoying University library services the following data was obtained. Represent the 
data by using Double Bar Diagram. 

Departments        No. Of Faculty Members   No. Of Research Scholars 

                                          

     Humanities                          86                                       40 

     Science                                64                                        48  

     Social Science                      26                                       14 

 

 



  ii) Find the Mean, Median, and Mode of the following frequency:          

DAILY WAGES                         PERCENTAGE OF EARNERS 

                 300-600                                                40 

                600-1000                                               20                   

                1000-1800                                             15 

                1800-2800                                             12 

                2800-3300                                               8 

                3300-3600                                               5 

                                                                      (10+10) 

   

  

 

         

 


